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P = 450,000 (N)
H#&M100x100x6x8
Zx = 75, 600 (i)
Aweb = t 1% (A- (2%xt2) )
= 504 (mif})
n = 4 (K)
I = 1, 000 (mm)
La = 500 (mm)
Osa = 210 (N/mift)
Tsa = 120 (N/mift)
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XP = 112, 500
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Mmax =
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w-la’2 = 14062500 (N/mm)
w + La= 56250  (N/mm)
- Mzmax = 186 (N/mit) < 210 (N/mi) OK
X
_ Smax  _ 113 (N/mi) < 120  (N/mi) OK
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t2 = 8
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) far P = 450,000 (N) = 450 k N
i 88 A [-180x75x7x10. 5
Wr i M BE Z x = 153,000 (i)

Aweb = t 1* (A-2%t2)

= 1113 (mif)

5111 N n = 2 (&)
XREES L = 275 (mm)
PRI Osa = 210 (N/mif)

Tsa = 120 (N/mit)
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P = 9

XP = 225, 000 (N)
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Mmax = Pl = 15468750  (N/m)
Smax = ; P = 112500 (N/mm)
o= %?ax — 101 N/mb) < 210 (/md) OK
X
= OmAX 01 (N/md) < 120 (N/md) OK
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